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Al 1(3)71

2o 2]
|. 7S Ao 2,508 2.35 2,017 2.05 491
1.8 3 183 0.17 243 0.25 -60
2. &iE=3 270 0.25 248 0.25 22
3. ML, =Kot 932 0.87 698 0.71 234
4. J|Et == AtHat 1,122 1.05 828 0.84 294
. =8d0Xl= 18,103 16.97 18,927 19.25 -824
. SsLHEHA 79,345 74.39 73,154 74.39 6, 191
(HEsY3a) 1,730 1.62 1,249 1.27 481
V. 2M s&= 28X
V. HIS S KHat 8,440 7.9 5,495 5.59 2,945
1. S XEAHAE 1,636 1.53 1,597 1.62 39
2. 7 Aot 6,773 6.35 3,891 3.96 2,882
3. PE R
4. J|EtHI == At 31 0.03 7 0.01 24
Kt&EE Al 106,665 100.00 98,345 100.00 8,320
| RSS2 6,271 6.33 2,299 2.52 3,972
1. 20403 67 0.07 51 0.06 16
2. EHIIXe 3 4,900 4.94 1,000 1.10 3,900
3. JItt==s=2 1,304 1.32 1,248 1.37 56
. 2sdll=3 87,166 87.94 84,247 92.48 2,919
. =s8xd= 5,275 5.32 4,467 4.90 808
V. SHl s&=2 282
V. Hl==s2 M 403 0.41 85 0.09 318
1. 3JI1Xe3 300 0.30 300
2. JIEtHIR=s2 103 0.10 85 0.09 18
S HE A 99,116 100.00 91,098 100.00 8,018
. EX= 4,512 59.76 4,352 60.05 160
NS b= 391 5.18 391 5.40
[, d2id -39 -0.52 -59 -0.81 20
V. JIEF 2 &2l & H| X 502 6.65 502 6.93
V.ol =3 2,183 28.91 2,061 28.44 122
K2 7,550 100.00 7,247 100.00 303
et AH2EH 106,665 98,345 8,320




(9]« Wkl

-+ = AWASI(3)) 20184 (B) 224 (B-A)
I. 94844 9,345 11,208 1,864
1Al AT P40l 4,051 4,362 311
7}. 0] Rl 3,455 3,713 258
g 20 461 507 46
C}.7|Efod 9l 20l 135 142 7
2. 73RATE G A 40l 5,294 6,847 1,553
I. gAPv-& 6,478 8,350 1,872
LAl SAIY F YUY & 1,801 2,293 492
7}.0]XjH] & 1,347 1,565 218
L. gH]8 71 4 -67
Ch7|Etg 4u]& 383 723 340
2. 73dMIAIE G FH]-& 4,677 6,057 1,380
. oj&50]9 2,867 2,858 -9
V. mofju] et y| 2,286 2,294 7
V. 9<d0o]9 580 564 -16
VI. -SR] HGAAH] 255 365 110
VIL 442 122 325 203
VII. L& 48 102 54
IX. HRINRFAAG 7|49l 400 422 22
X. HRIA| H|& 40 42 2
Xl. G749 360 380 20
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4 u 20174 (A) 2018 (B) 2% (B-A)
> A 2 ¥ & 8.46 8.37 -0.09
2 7 A o] sl o] Alb] & 0.09 1.05 0.96
A P =2y g 0.17 1.67 1.5
0 & % o 24 & 122.72 116.55 -6.17
A R AL & o] 9 & 0.38 0.37 -0.01
o = N H & 47.88 49.01 1.13
o o} H] < 82.80 82.22 -0.58




